18- m A CED as shown below, points 4 and 5 are
located on sides CE and ED, respectively. Line
segment AB is drawn such that AE = 3,75, AC = §,
EB=4.5 and BD = 6.

Explain why ABis parallel to CD.

AAED ~ ACED pecause SAS,

Hha 3 ave.
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21.
In lelo ABCD, dnqgomlsACmdBD
m;ne,tdctngaafhmh statement 2@ \Qb

is a thombus?
) ZEeDB , g
b)) 2

3) AC.LDB
4) AC bisects ZDCB
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Triangles RST and XYZ are drawn below. If
RS=6,8T=14, XY=9,YZ=21,and £8= /7, is

ARST similar to AX¥Z? Justify your answer.

b.z M.z
4 O %
Nes, ARST ~ AXNZ
el S@ O’Q SAD.
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19.  In the diagram below, ABCD is a parallelogram,
AB is extended throngh B to E, aud CE is drawn.
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dﬁgux«w-znr , what is meE?
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shove <E. mm-&xe , Using the information given below, which set of
tnangles can not be proven similar?




23.  On the graph below, point A(3,4) and BC with
coordinates B(4,3) and C(2,1) are graphed.

y
A

-

What are the coordinates of B’ and C'aﬂerI?E
undergoes a dilation centered at point A with a
Scal ACIOT O =

2) B'(6,1) and C'(0,~1)
3) B'(5,0) and C*(1,-2)
4) B'(5,2) and C'(3,0)
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The image of A ABC after a dilation of scale factor
k centered at point A is A ADE, as shown in the

diagram below.
A | 6 \YY\’\ \O\\(\
, A\ 5
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24. The grid below shows AABC and A DEF.
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Let A4'B' C be the image of AA4BC after a
rotation about point 4. Determine and state the
location of B'1f the location of point C”is (8,-3).
Explain your answer. Is ADEF congruent to
AA'B' C? Explain your answer. ,lgiu A Q 0°

26. B‘QUI‘ >

In the diagram below, AABC = ADEF.
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>

Which sequence of transformations maps A ABC
onto ADEF?

; ; 0
Wineh staiement i 1) areflection over the x-axis followed by a
1) 24B=4D __ ftranslation
2) AD1DE @ a reflection over the y-axis followed by a
3) AC= CE translation
(T)/ BC | DE 3) arotation of 180° about the origin followed by
a translation

4) acounterclockwise rotation of 90° about the
origin followed by a franslation



